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. ' .
Find the number which when multiplied by 15 is increased by 196?

M 14 , ' B) 20
©) 26 = . . (D 28
@ erar 15-6 Au@pssiiu@b urpg 196 siflswrdpg) erafle) Sibs erammenané sehr

*®) 14 | (B) 20
(C) 26 Lo . (D) 28

| % b3 . a2 _ b2
Simplify : —2 .

implify az+2ab+b2)< a-b
A) o —ab+b? ®) a®+ab+b?
(© a+b | M) ‘a-b
T 2 a®+b® a® - b®

a? + 2ab + b* S

\/az—ab+b2 ‘ - B) ad’+ab+b®

© a+b | ® a-b

Which term of the series 5, 8, 11, 14, .... is 3207

&) 104w | (B) 105t
@ 106% | | ©) 64
320 erarug) 5, 8, 11, 14, .. eremmp euflensulien agg@muﬁm@ 2 miiy?’
(A) 104 aug : (B) 105 sug
(C) 106eug (D) 6deug
| What percent of 60 is 722 | L ' | .
A)  80% | \K 120%
©  84% D) - 65%

60 eremLiden erggaman 55655 72 & @) (HES APigLLD.
A)  80% ® 120%
C) 84% , D) 65%

3 ‘ v MVIGS/18
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5. Ram can do a work in 15 days Rahim is 50% more efflclent than Ram The number o?days
Rahim will take to do the same piece of work is

A 7% - \,ﬁ( 10
© 12 D) 14

T eremueu g Geuameanit 15 prsafle WSSOI, Fabb eresLieuT UﬁLb—GmuJ &L 50% Slenreurs

wuunt erafled, adid wi Gib gallwns 1G5 Geuamean THHET BTLsatled (pig LILmiT?
@& % | ' (B) 10
(© 12 D) 14

6. IfA:B=5:7andB:C=6:11thenA:B:Cis

(&)  55:77:66 | (B) 30:42:72
(C) 25:49:42 W30:42:77
A:B=5:7CwgubB:C=6:11aafld A : B: C-en wdiiy

(A) 55:77:66 - B) 30:42:72
(C) 25:49:42 | (D) 30:42:77

7. . 170% of 1140 =7

& 1938 | B) 1824

(C) 1968 (D) 1881
1140-é 170% ereucuerey?

(A) 1938 ‘ (B) 1824

(€) 1968 | D) 1881
8. If the sum of a number and its square is 182. What is the number?
4a) 15 B) 26

() 28 SRV~ T

R TSI DAGEN QUiTEESMSE Fal g @ed 182 dlevL &8s craled Bibs erair wirg;?
@A 15 ' ' (B) 26
€ 28 - D) 13
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2, .What is the HCF of a”b* + 2a%b* and (ab);—4a2b_9? |
@A) ab N | | ® a2’
©  a’h’ ! | " o |
a* +2a%?, (ab)" - 4a%* eyfu cemaaien B Gun.ov. (HCF) -
(A) ab | ‘_ s : (B) a2b3‘

(C) a®b? , - D) a?b?

10. The H.C.F. and L.C.M. of two numbers are 84 and 21 respectii/ely. If the ratio of the two

numbers is 1 : 4. Find the larger of fhe two numbers.
@ 12 ®) 48
M 84 | = (D) 108
@ eramaaficn LS.QIJ‘W.@.I. Lngbg)n_ﬁ LS.QLJW.LD;@GU)@GUJ 84, 21. oB5 sramser 1 : 4 aranp elssSe

SieLpgaTeren. erafled seumbled Gl GTeHT 6T ?

@) 12 - (B) 48
(C) 84 . : (D) 108
11. TFind the area of a semi circle ‘ofiradius 28 em.
(A) 144 cm? | ; (B) 1220 cm?

- (C) 238 cm? : ' M1232 c‘m2

<7 28 Q&.18. 2 enl_wi Sieniy @Jx'_L_‘e;;C_,(é,]Giﬂ LIFLILIGTEY SITEHT.
(A) 144 5.Q0s.5. (B) 1220 5.0s.18.

©) 2388085 | . (D) 12325088

* ' 5 ~ MVIGS/18
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1:2:

13.

14.

~ Simplify (

(561 x 561) - (31 x 31))
530

@) 530 A (B) 561

(€) 381x31 M 592

.‘ 561 x 561)— (31 x 31
e e [( ‘ 520( x ))
(A) 530 A (B) 561

(C) 31x31 : (D) 592

Ifa:b::3:5 and b:c::7:2 then a:b:c is -

(A) 3:35:10 _ : M-21:35:10 .
© 21:5:100 D 21:35:2
a:b::3:5mg’)gmb:c::7:2creuﬂeba:b:c

(4)  3:35:10 | (B) 21:35:10

© 21:5:10 : D) 21:35:2

The pqtential barrier of germanium PN J unctioﬁ is

(A LlleV | ; B 07V
& 03V | ® 11V

Ggrorefiwn PN sbdé@ib Wenarpss e gl

A  1.1eV B) 07V

(© 03V D) 1.1V

MVIGS/18 | 6




15.

16.

17.

Which of the following Noble gas is used for Inflating Aeroplane tyres?

\/ Helium | (B) Neon

(C) Argon ' ' (D) Xenon

Qesreu(pLd eThs 2 wiflw euruy s lorariisefien Lwirsafd ﬁuqugm@u Lwer(hdEmg?

@) afeluib ) B) Hurer

©C) yrsmen D) Qeermrer

Inter molecular hydrogen bonding is present in , -

(A)  O-nitrophenol ‘1 B K Water

(C)  Salicylic acid | (D) Salicylaldehyde
@@)e&;éﬁg&;@&@&ﬁmi_uu L emanl_yemer enanrlian Ul QupmieTer Garriotd
(A)  O—eom Gy Sermed _ B) B

© &rraS]é]aS]é; Sibleotd ‘ (D)  smell&leomeviqanam(®

Fogisa colloidal solution of

(A) - Gas in Liquid

W Liquid_ in gas

(C) Gasinsolid

(D) Solid in gas

veflliyens erestLg)

(A)  Brwgde eumy 2 6TaT SalpLold
B) mrruaﬁlei) BTowb 2 6rer salpLold
(C) Samogsler aumuy 2 @TaT & pLoid

(D)  eumyedled Slewmioid 2 6TeT SO

MVIGS/18
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18. Statement : There is passive movement of nearly 70% blood from auricle into ventricle.

Remainjng 30% is pumped into ventricles by artirial contraction.

Reason  : Opening of the atrio-ventricular valves »
(A) Statement in correct. Reason is wrong
Statement and reason are correct
-(C) . Statement and reason are wrong
(D)  Statement is correct but the reason is not explaining the statement
apy - glilunselldimbs Ceen fsfdaaensgear 70% @rassn sramsGe OB gﬂema.)u_‘ﬂeb
EPpriESAng. ererdlu 30% Geuem’ MadarsEnseer e Mw &hH&sSST SlantlssluBEng
sryewnd :  erAGwr Geusn Mégeomt eurdaysear HpliLigme |
(A)  sapm &f, sTrewnd Saum
B)  spy &, sTyewrid &
O s=mpm seuy, sryewd Seum)

(D)  empm &M sryewd saphenm efends eldena

19. A permanent birth control method in féemale is
(A) Copper—T M‘ubectomy

(C)  Cervical cap (D) Contraceptive pills
QueiTaEnéHTan @@ Blenewirer smssenL (pepm |

A  srmour—T (B) T EXATNY: T,

O smssmL§ Savré seuey D)  smssomL LISH@TsET ‘
20.  Which vitamin is known as “Sunshine vitamin”? _ ,

(&) * Vi w/ Vitamin D

(C) Vitamin E , (D) Vitamin K

“@rﬂ@ gafl eul Lifler” erammy 61bg emeut L Llenes SiW&sLILHEDS)?
A) e Lifier A (B ealfaD
©€) oarllal D) e LB K
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21. Which.of the following are the gaseous planets?
Mercury, Earth (B)' Venus, Mars

M Saturn, Neptune , (D) Pluto, Earth -

19 6tTeu (THeUENTeU DMIET GUTLECHTETSET ETenel ?
(A  ysan ued - : (B) Qeuerefl,Qscueumi

(C) .&@ﬂ,Qr_r;L'ergeiﬂ I : D) yep Gom, yel

D, India’s research stations ‘Dakshin Gangotri and Maitri’ are located in '
(A) . Arctic circle . \M Antartica
©) International Space Station (D) Himaléya
- @ ‘ster saCarsil wHmd Gc;mgGUuﬁY GEId pIe|S G muysemer BlmeSicieTer LGS
(A) <yhgs UGS | ’ (B) SieRILTTq&T

(C) sieuCse eflarGeuat Hleneowid D) @uwiee

23. Which of the following is the determinants of population growth?
(A)  agriculture and industrial revolutions .
(B) improvements in medical care

© protection from the natural calamity

M all are correct

n&s6T Ogrens cuaTTéSlenw @ﬁsmuﬁ]uusmm GTene?
A)  Gaiemeir wHGId ASMPDH LT-E

B oopees s watapn

©€) Qupos Guu@m&aﬂeﬁ@@r_‘r@ LITGI&TEHS6D
D) s@asgd &

L 4 ' 9 ' - MVIGS/18
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24.  The literacy rate in India in 1991 was
(A) 7585 | (B) 54.16 ‘ | J
(©) 65.38 M 52.10 |
@bSw cwssay eSpid 1991 & 3

&) 7585 s B) 54.16
(©) 6538 D) 52.10

25.  Name the economists who got the first Nobel prize for‘ the econometrics.
(A)  Marshall and Samﬁvelson '
(B)  Ricardo and Knight
(C)  Kicks and Dalton
M Jan Tinbergen and Ragnar Frisch
PseT (pFedled Siemellwie Qun@mng,rmg'sﬁ]gba;rr& Comue ufles QubmeurseT wri?
A)  orraye wHmb erapCeucaes
B)  AgsrCLT wHmD anpL
(C)  &aev wpmib Lmedr e

D) grrm g @TQUTEET HMID Fréet o9 flel,

26. “The laws of economics are to be compared with the laws of tides rather than with the simple

and exact law of gravitat;ion"’ by ‘
& Marshall | ®) Adam Smith
(C) Keynes | . (D) Ricardo

Qurmpaflwed edepws erafi gjsueﬁ]umrrm yell iy eflens aﬁ]ﬁas@mrr@ uUbheumg L. s
ieasaflan elHsGeort(® GniLembd eremy sadlweui

(A)  wriage | | B) gL G0l
(C) Sens D) NsasmCun

MVIGS/18 10 : L 28




2 The 74% Amendment also known as the : pfovides for setting up of three

types of Municipal bodies.

: M Nagarpalika Act
(B) District levei Panchayat
(C)  Gram Sabha Act

(D) Cantonment Board" Act

e eMuiu@n 7daug SLHMmSSD (PEID  GUENSLITET B&ITLE  Sjeowi)

QUmELSDH S cuams QFIEDS.
(A).  paiumels sLD |
(B) . wrau Ll LEETUSS)
(C)  &gmwo sepu LD

(D) @uremieu saLeurfiu st b

28.  Pick out the false statement (Only one statement is false)

(A)  Administrative Reforms Commission was setup on January 5, 1966
3 M Under the chairmanship of 1\/‘Ior'arj.i Desai with 15 members |

(C) The commission submitted its 20 reports
(D) The commixssion studied the major ten areas of public administration
seupner saherp Ggiie) Qews (e LG seupTear Fo.Hm)
A)  BHieurs EHmHs geamuid garafl 5 19666 &.mmé;esuul'_l_@
B)  Qumyris) Casmiar seaemuwoiler & 15 o piidarser R
C) Qs gmenwib 20 @1@&;@5&@m &mﬁﬁ]g_’r,g,gj‘ ,
D) @5 eamub Aurg Hireurssgan 10 sarbisemer pUBSIE6TS

. T ™ " da ) MVIGS/18
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29. . The word ‘Socialist and Secular’ were added to the preamble by

- 415t amendment
w 4274 amendment
(C) 46 amendment
D) ‘44;h aﬁlend}nen’.c
‘FOSTLOWL’  WHYID ‘FowE  gmiferenin’ GT6IT m&ﬁgmg THS  DrwienioliL gmsssden Lig
Ll Ceigasiul_L g). | |
A) 41 ez Hpsid

B) 42 @Jg,j G
(C) 46 eug) Amssid
- D) 4deaug Hpssid

30. Which one of the following rights was described by Dr. B.R. Ambedkar as the heart and soul

of the Constltutmn‘?
(A) Right to freedom of religion
(B)  Right to property
(C)  Right to equality
M Right to Constitutional remedies
Dr. B.R. SHDCUISETTED @BHw rHweenoliGer @swapb auﬁ]@fn eT6T mﬁmﬂ&asuuLL @{@DD@DL

2 _fenio 6rg)?

(A) FoW 2 flenio
B)  Qanggiflewo
(C)  swggeu 2 Menid

D) wrduemoliGbEr L &ire| sramb o Mento

MVIGSA8 | 12 ‘ ' .




31. Ithat is the age qualification for a member of District Panchayat?

\/_214 o ® 2

() 30 - D 35
OTeUL L u@&rru_xgg)j o pubemreugnE@ W 563
A 21 | (B) 25

© 30 _ - (D) 35

39.  The legislature of Tamilnadu had bicameralism upto the year

33.

.,/ 1986 . ® 1988

© 1996 | @) 1998
SEDHTDH eThHS éJ,Glﬁﬂ‘@ Qe Fenel L eingems QupBmbeg!
(A) 1986 . ®) 1988

(©) 1996 | D) 1998

The hormone renin is produced by the

(A) Pancreas V (B) Gall Bladder

(C) Liver Kidneys

Qraflen eremed gn)rrr"rGLDrrsmm o HUSSH Qelng).
(A) s@ewTwid : - B) YssLU

(C) a6y - (D) @gﬁg&@&ﬁ

.13
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34.  Ashoka the great actual coronation : ‘ ‘ : °

(A) 273B.C . (B) 272B.C

(€) 271BC Mzsch

&1 AHCEraT U &L @urrgnumu TDD e () 6T ?
@) 27384 | “B) 2724.0p

€) 271dqw | (D) - 269 &.ap

35.  The guardian of vShivaji was
(A)  Malik Amber ‘
(B)  Balaji Viswanath
Afzal Khan

\M Dadaji Kondadev

Aeurglufer LngsTaIGT
A)  oralls b -

B)  urery eleveusrs
©)  sisdane |

D)  srerd Q&rreo"m_'(ﬁg,sh

36.  Who used the Indian soldiers to fight against Alexander?

@) Cymub | " @) Dariud I

@ B 7 Darius III

ar SGessmamLii Ll QuELnder Gurg) sieursAsdrms @bHu eSrisamar LwerL(hgSIw wesresr

wImw?
(A esye ‘ B)  wserd GLAwe
(C) , Qe&rgenen D)  epeprd CLNwav

MVIGS/18 | - 14 | .




37.

38.

Match the following :

(a) First Battle of Panipat 1. 1540
~ (b) Battle of Bilgram 2% 1526
(c) Battle of Haldighati 3. 1556
(d) Second Battle of Panipat 4 1576
@ ® ©
@A) 4 2 1 3
® 2 4 3 1
o 1Y g 3
Oy 2 1 3 4
Epaa_suphen QUITHSSS :
(@ s uretiuc. Gumt 1 1540
(b) QGedgmb Gumr 2 1526
(c) apmodar Gu rrrf 3. 1556
(d) @newrmb urefliul Gumi | 4 | 1576

(a) (b) (© (d)

@A 4 2 1 3
®B) 2 4 3 1
©) 2 ] 4 3
D) 2 1 3 4

The member of Rajya Sabha are elected indirectly. How many members \;vho' are
distinguished in the field of Art, Literature, Science and Social Service are nominated by the
President? | '
% 12 Members : (B) 13 Members
(C) 14 Members 4(D) 15 Members
Gueeal agjulﬁlcmrssm LD (PSLOTS Gg,rr(r_r,@g,@a;a;uu@aﬂg)rrrra;m agsemans GUT s, @m&;@um,
Sifellwed WwHMILD FUPSL Liefufer ApLiLrs Ll NbeeuTEmeT G UTE SEnaaTTe BlwudsSprirser?
A 12 Guirser (B) 13 Guirser
(C) 14 Guitser s ol (D) 15 Gurser
15 | -~ MVIGS/18
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39. When Subhash Chandra Bose reached Berlin, he was welcomed by? ; D

(A) Hitler

- - ——— 9 o

(B)  Goebbles-

(C) Hindenberg
M Ribbentrop

surey sbdly Cumen Quiredle B&Td Qeern Gurg euamy eurGeummeur wimi?
A e

B) Csnwudev

(C) gﬁml_eifrufré;

D)  Auégym

40.  The Maratha Chief who had correspondence with Keralavarma and Tamil rebels was -

(A)  Yadul Nayak

M Dhoondaji Waug

(C)  Pazhazhi Raja

(D) Raja Wodayar

sllpssms Geibg Cumprellse oo Cayer cuerGenm(h QgrLme @@‘r_r,g, FTSEWT wmr?
@) wuge prus | W |
B) s euré
(C) uwé grgr —
D)  ggr e ewm

MVIGS/18 ' 16 ‘_ ' ¢




42.

43.

4L

Which is called as ‘Pink City’?

A). Jodhpur - yJaipur

(C) Jaisalmer - . : (D) Udaipur
‘@ererdleuti BT’ eren SienpsaUL(heug Ty ?

A) Cgrsum - (B) quﬁgr’r

(C) QgmuieaGuor D) esiyi

The First Indian Prime Minister who reS1gned his post was

(A) Jawaharlal Nehru \/ Morarji Desai
(C) V.P.Singh [ 1 (D) Chandra Shekar
e psld ser Lgalou Uf@mm Gsip GhAL Angiof

A)  maanierd Crm . - (B) Gummig @g&rru_l

©) 9.9, A A . D) spdy Cosir

Who find that the proteins MbnB and MbnC are causes for the functions of Methano

trophic bacteria?
(A) Niels Bohr and Team

(B)  Nicolaus Copernicus

w Emiroson Weig and Team

(D) Robert Hooke

SMTEwILD GTeiend Sem [HL9lig SeuT wnm?
(A) ﬁeuao Gﬁﬂﬁ O GPp

B) psCaraey Camuieaflwiey

(C)  alCprgen Geuuid LHHID G

(D)  gruil apvsdl

17

‘MbnB whmw MbnC <A LT SBISHET STe nggGmeﬁnlﬁ]és Lidste Awiméeafn G&ﬁmgi)urr@as@é;@
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47. “Pragati” Scholarship Scheme of the ‘Gover.nment of India is meant for

Higher education of girls

\M Technical education of glrls

(C)  Secondary education of girls

(D) Elementarﬁr education of girls .
‘Gred’ wsHwu Syélen 2 5695 Qgmens S 1D
(A) GQuanseier o wim so6el&EETS

B)  Quarsafler Agmflh soellssTs

(C) Quawsaien Qe Hlenes asebaﬁlé;a;na;

D) Queawsafler g rbu &OENEEHTS

48. Which one of the following is not included in the National Air Quality Index?

‘(A)  Sulphur B (B) Nitrogen di oxide

(€) Lead k " Methane
Spsar_cupmier orgl Caslw sTHM) gr;é; MU0 CarasaiiuLalldene?
(A)  sbssD (s6UT) B) ‘GD‘ELU%GN—GDL—@{{,&SGDGD®

(©)  arfub (Lead) J @) BsCEen

49.  Which Indian has been awarded the WBC Asia Boxer of The Year Award, recently"
M Neeraj Goyat (B) Mohammed Ah Qamar
(C)  Shiva Thapa | | (D) Akhil Kumar
glugSe, pEw WBC TR G5SIF sarenL 68l (HE ng)g) QBHwiT wmi?
A)  Brg Camwg B) (y)asl.omg,j @{aﬂ aLomi
(C) Seurgunm : . ' D) e @orm

. 19 AL MVIGS/18
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50.  The ratio of 9 months to 1 year is | @

A 2:3 \/3:4

© . 4:5 D) 5:6
R uBLES O wrshisaflear eldssms a9y
A 2:3 : : B) 3:4

@m w5 o - (D) 5:6

51. If three numbers are 2a, 5a, 7a, What will be their LCM?
W 7a | -~ (B) 65a
. © Ba . D) 170d°
2a, ba, Ta eren epesm) aé’ura;aﬂeirr B&flm Qungl eue %ras’vr %rgj?
(A) 70 la ) : . B) 65a

© 5a | | o d

52. A trader buys an article for Rs. 1,200 and marks it 30% above the C.P. He then sells it after
allowing a discount of 20%. Find the profit percent.

A) 5% ' B) 41%

. - D) 6%
@@ edwrurfl @6 Gurmeer .1,200 eurkidlam. Gan iger oisselmwsd Cod 30% GHss
NenedE 20% ger@pLig. QarRadnmt. elpm eflenauder ruib % eremer?

A 5% | B) 41%
© 4% | (D) 6%
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93.

-54.

55.

12 men can do a piece of work in 24 days How many days are needed to complete the work

if 8 men do this work?

A 28 | © e ,/ 36.

© 4 | o sz |

20 Coumamw 12 wallgisd Coripg 24 B _safley @Lora;aﬂmg)mrr 265 Caumavanws 8 waflgiaser
Ceirbgl (pig6a eTdsamen Bl et %@m?

@A) 28 | (B) 36

C) 48 : D) 52

A sum of money at simple interest amounts to Rs. 815 1n 3 years and to 854 in 4 yéars. The

sum is

A) Rs. 650 | | (B) Rs. 690

W Re 698 . (D) Rs.700

@R OsTens ‘é_ISGUﬂQ_IL_.Lq_U_CﬂGI) 3 m@pgﬁw 5. 815 @ebeﬁg)gj <15Gau, 4 @J@I_g@m - 854 o flmg) Gran,rprrm

é{g,g@g,rrme;srmmmm? '
(A) @650 . | B) @690
©) 698 | D) @700

The G.C.D. of a® b*, ab®c?, a®b’c.

w© O ® oWt
© a' | | , D) okt
a® b*, ab®c?, a’b’c -én 15.Quma - GTeTLgy. -
@)  ab B aBt

© a‘c ‘ (D) a’**
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56. Simple interest for an amount is Rs. 120 at 6% per annum for two years. What iS the

amount, if the simple interest is Rs. 90 at the same rate of interest for 3 years?

(A) 1000 : (B) 1500

\/ 500 | D) 1750

- @@ QsmasseE, 6% il eﬁg,g,ﬁco 2 oaTHsERES saf el 5. 120 fng. SICs ey cig5Sle

apeTn) 2T (HSHEHEE g,evﬂem_u} . 90 crafler gTens ereucieTey
A) 1000 ‘g =i ®) 1500
(©) 500 , (D) 1750
- 57. | 2
¥2=2 and 9 48 5ud the valusgf =2
OIS 16 c+a
7 ‘ 7
s/ r B o1
| 25 = 24
6 &)
C — D) —
© o5 (D) 25
2 2
%z% WwHOID —g=—i—2 erafled Zzlzzl—s'm wHlureg)
7 7l
A — B —
(A) 25 | B) 24
6 ope
C — D) =
© %5 . D) 25
58. The number divisible by 9 is
(A) 18736804 (B) 83360715
(C) 44679013 14681439
O GTENTM GTERTERTIE) GU(GLIL & Falg.UI GTEHT
(A) 18736804 | . (B) 83360715
(C) 44679013 - (D) 14681439
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59. A 4 cm. cube is cut into 1 cm. cubes. The total surface area of all the small cube is

(A)  96cm? , s (B) 24 cm?

& 384cm? ' (D) 284 cm?

4 Qg.8 2 e w se &@Umnm@ 1 Q&8 emLw Aflw sar sgirmsens Qeul L LuRHpg orafler APlw

s &g yEsafe Quorgs Uyl wirg?
(&) 96 Qs.82 | (B) 24058

(C) 384 Qs.52 (D) 284 Qs.152

ol (171 x171)- (69 x 69)

240 |

| M 102 | | " ®) 240

© 17 - D) 69
sy LTL 172;) (69 x 69)

A) 102 | | B) 240

© 171 | ®) 69

61.  Find the L.C.M of 72, 108 and 2100

M 37,800 (B 2100
(C) 36,600 3 _ (D) 28,400
B5.@Qum.w grewr. 72, 108 wpmb 2100
(A) 37,800 R ) 2,100

(C) 36,600 ) (D) 28,400

. | 23 . MVIGSNS
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62.  The first Indian Communiéation satellite put in geo-stationary orbit is,’

(A). PSLV (B) Aryabhatta

% APPLE | (D) Rohini

Lluflerr spmieu LU urengudle) Agnamasbsm i ssns @pHur g wae AeupanssCarar

(A)  Qerevereve B) flwuler
(C) guQer ' : (D) Coréewi

63. The system of unit accepted universally was
@  ces | .~ (B) FPS

- # MKS (or) ST unit | () HKS

2 & SieTeNer SiemaTeurTILD FHMIF QETaTeTiiLIL L DHOGAPED
@) CGSwep | ®) FPS gpep |
(©) MKS (wi@og) SI wep (D) HKS yep

64. ‘Bunsen burner’ works, based on the principle of

(A) De Morgan theorem
\f Bernoull’'s theorem
©) | Surface Tension
(D) Photo conductivity
Ep&ERTL HSgIeuSSen c"qu}u‘uml_uﬁleb Yevgen erflaeen QeweonHEng
(A)  gwrrser Capmbd
B) QurG@erared Cahmid
©)  uriy @ueiens
.(D) Qeutiuien sL_gge
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65.. [ The compound formed when aniline is heated with Fuming sulphuric acid at 353K is
| p- amino Benzene sulphonic acid |
(B)  o- amino benzene 'sulph(_)nic acid
(C)  m- amino benzene sulphonic acid
(D)  p- nitro be_niene sulphonic acid
Siaflellenar Lensub sbse @{L&GD‘&SQLG%T 353K Qautitu(pggin Gurg %@mrr@d) Gemold
() p- s18Ga Quicfan sebsCurafls siSleon
B)  o- SfGarm Quiean Feds.Curafs oifevib
€ m- auS]Gevrrf Quen&en g6vo-GLimeld jlevtd
(D) - p- eopl Cor Quenderr sevs=CLiraflé oibletd ‘

&

66. Find the incorrect statement :

I Ozone depletion will affect crop y'iel’d
- IL Ozone depletion will not cause dé,mage to fish larvae
III.  Ozone depletion V;fi]l cause skin cancer in man
% ITonly |
(B) Ionly

(C) IIlonly

(D) I, II and III are iﬁcorrect

saupran mrrésé‘wééﬁ.@ Coip0s0

L @Gamen @Qﬁuﬂémreb ellenensged LITHEGD

IT. @Geren Quoliy Ber GErasafle) eThg LITALILD gHLRSSTS)
III.  eCerer @gpuurrd) wealls@mis@ Card yHnGCHTL ghu@n
A II wi@m-

B) I wi@w

(C) I o @id

D) L II, III epetmpuis seugy

. | | g ® - ¢  MVIGS/S
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67.

68.

69.

What is the contribution of India towards the world mica produ‘ction?'
A 40% M 60%

©) 66% - (D) 50%

o 8 MOEET o HuGHudler @bHlwimellen Liki@ wimg?

A 40% ' (B) 60%

(C) 66% D) 50%

Which of the following deserts does not lie in the Northern Hemisphere?

(A) Gobi 1 \M’ Kalakari

(C) Sahara (D) Thar
auL_ CaranmigssEe STeriiLLTE LTaGUEHTLD 6Tg|?
&)  Csmd (B ses

(©) ssmym (D) s

Name the location of Evergreen forest

(A) Temperate region

M Equatorial region

(C)  Subtropical region
(D) Polar region

LI&EDLD LTDTE ST(HGaM6n el LD wimg)?
Q)  vsCeusubear ol UGS

B) Heop@&sCsm_Hu ued

(C) gmewQeuliLierels UGS

D) - smeu waTLed
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70..

71.

72.

(A)

@D HTSSHED BT g 6) UpEESHL o érer &MUY uewtd Sle éqmafﬂsu

In recent times unaccounted money has been used for financing

Transaction ") (B) Precautionary °

Speculative ‘ (D) ' Chéap ‘money

aurafiusSnE vwetuBssiu’ L Cs QshEé sTrammomEb.

A) ufwrHpo B) (g)m@mé&rﬂémgs
(C)  oas D) maﬂ@uumm
is sometimes recommended as a remedy for depression.
(A) Creeping inﬂaf,ion B) Cost push inflation
(C)  Price control W Wage cut
G]urr@mrrgrrrr 10h&SHNG STeurs He sowhseld SmodDg).
(A)  seuwb vareissd (B) Qeoey 2 pg uameissid
O Aeves _Hriur® ' D) &l Genpiiy ‘
Match it :
(a) Prof. Dimock 1. Budget
(b) Prof. Fisher. 2.  Public finance
(c) Prof. Seligman 3. Equation of exchange
(d) Prof. Dalton 4. Tax '
® © (d)
,/ 1 3 2 Eaoy
(B) 1 2 4 , 3
) 3 1 a 4
‘D) 4 3 2 1
QuUTBSSIE : |
(a) CupmrfAwr s 1.~ aey Gsway b
(b) CGugrAflur Qegr 2. Qumg B

(c)
(d)

(A)
(B)
©
(D)

@ O

Cuprélfwr Aeedl&Goear 3. ufbmHpé &méisrurr@

GugrAMwir LrebL_est 4. afl

(d)

> QO e
W = MW
N A
=R WO

27
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1) Setting up of national clean development mechanism authority as per - ‘ . :

f Kyoto protocol

B)
©)
)

Coastal régulation zone
National chemical management

National environmental policy

—————— @w Geuph Cadlw &gg,Lb‘&rrr'r‘r_'r,g, auerEé) smed SHSMT G @D THLIGSSISM

@
®)
©
®)

Hur G apenm
sL_Geory sL@uurrL'_@L‘Ju@gl
Cadlw @Uarru_leo'rﬁr'rmrr& (P

Caflw &DMFGLO Carerans

74.  Arrange the pattern of Industrial growth in India correctly

.
2

i
4
(A)

©)

Intermediate goods
Basic goods
Capital goods -

Consumer goods

3124 B) 21,3 4

3,2,4,1 : : A %2,3,4,1,

@pHw Apmfe euariéslulien cuanasaen Ligm_Bisalen i LiumLudd auflasuBs e psis.

1.
2. |
3.
4.
)
©

MVIGS/18

@enL_allenel) LiGHTL MBigGeT
Siig LILIEHL_ L LIGHRTL_BISET
LGOS EDTLI LIGTOTL_ RIS 6T

BISTE|L1 LIGHTL_BI&ET.

'3,1,2,4 B) 21,84

3,2,4,1 ‘ D) 2,84,1
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75. The Declaration of the rights of man was published in the year -
(A) 1817 A = : \Mwsg
(C) 1897 | o 1978
Las&ﬂg 2 flenwosar ysLanb Geuafludl UL e
&) 1817 L ® 18

© 1897 (D) . 1978

76.  The council of ministers in the state is responsible to

Mun1c1pal council (B) Parliament

M Leglslatlve council (D) High courtA

Lorr.rﬂa)g,ﬁm SeMDFETEE TEDGL QUTDILILIE_WISTS 2 dTeng)
(A)  psywemd ‘ (B)  umpr@peamLd

(C) &L emid (D) owr ‘rj’}@.beiﬂg)fo

7‘7. Father of Local Self Government is
M Lord Rippo;l
(B) - Lord Chelmsford
() ‘ Lord Canning
(D) Lord Mountbatten
2 arenmL_&) yrenhissSen BH®S erem a@@égdu@u@ﬁ
(A) rﬂuusﬁ Gy
(B) Qewev Gumi_ Qi
6

(D)  Queren_ Gui e 9y

* - | 29 . MVIGS/S
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' 78.-  The Dowry Prohibition Act was enactment by the parliament in the year

A) 1952 J 1961

© 2000 . D) 2011

UTS_FMERTS SeDL & PR urpr@sanssre HleapGaunpiLlL ()

(A) 1952 : | (B) 1961
(C) 2000 . (D) - 2011
79.  Direct Democracy exists in
(A) USA (B) India
(©)  Portugal G Switzerland

(’S‘r_r,lqu; é&semr_& pen_Qumitd B 6T5I?

(A  =QwissT B) @pHur
(C) Guriésase D) el srembg
80. In which form of Government is the executive not responsible to the legislature?

(A) Collegiate

Parhamentary

M Presidential

(D) Dictatorship

GTDPEND ém&rrrma;g;ﬁsb g6 5L DEDSEDE CuTmiLeL WeTTs B @ESOTLLTT?
RGN

B) unq&@ms’um wpem

(C) s@maeum apem

(D) sraurdlary apeom
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81. Which salt 1s used in Test Tube funnel experiment?
(A)  Pottassium chloride - ‘ M Sodium bi carbonate
(C) deiuni carbonate (D) Sodium chloride |
164 Glpd Liamed @pisefe LLETLHSSLLGD 2.0
Q) QurLrduib GGamer( | B) - Gamgwibd L smiLGaT

(C)  Gemguwib smiuGar . (D)  Comgwib gGar ”@U C]

82.  Which plant roots yield powerful Alkaloid, named ‘Atropihe’?
(A) Dautura Stramonium
(B) Withania Somnifera

Solanum trilobatum

M Atropa belladona

i srauy Ceulisefle s, i Gyl arémp eydsamii() INE0sGEsILESDS?
@) I @irevmCoredn

® @eugsrafiu smbefl..@LyT
(C) Qeerand LayCamrGuil_Libd

D) e Crrur QueeCLrenm

83. The most importanf city on the western side‘o‘_f the Ganéetic Piain is
A) | Panipat ®). Simla
Delhi = (D) Kolkatta
srmes swbeafulier CuneL ynsdeo <DAvLDBFeTaT WESWILLTET BETL 61?2
@) urefouc ' B) Abor
(C)  Graell (D) Qaresssr
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84. Krishnadeva Raya was the ruler of the Vijayanagarr empire between
(A)  AD. 1485 — 1502 | \/ AD. 1509 — 1530

(C) AD. 1533 — 1545 _ (D) A.D. 1550 — 1565

HmegamCHourmui eNgQuIbsy Cuirens & Lyfhs sTed?
(A) &.19. 1485 — 1502° B) 4.49. 1509 - 1530

(C) #.9. 1533 — 1545 (D) -£.9. 1550 — 1565

85. Match the following :

(a) Diwan-i-arz 1. Firoz Tughlaq
(b) Diwan-i-Riyasat 20 Muhammad bin Tughlag
(¢) Diwan-i-Kohi 3. Alauddin Khilji '
(d) Di_wén-i—Khairat 4.  Balban
(@) (b) (© . @
J gl 1S 2 1
B 1 2 3 4
© 2 4 1 3
®) 3 1 4 2
EpseaTLauHenm Qun@gga; :
(@) Seunef c°-|rr6m 1. QuGrrev gi&ars
(b) Seurafdl fwrss 2. &g e gi&ens
(0 Seurafl Carabl 3. Sire|Ser Sl
(d) Heurafl ears y 4, LITEOLI63T

(a) ® © @

A 4 3 / 1
B 1 2 i 4
€ 2 4 1 g
® 3 1 4 2
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86. .)uring the freedom struggle on which day the Indian National Congress celebrated the

Poorna Swaraj

7 January 26, 1930

(B) January 29, 1929

(C)  August 16, 1930

D) August 18, 1930 -

@i GCzflw srhdyen | aﬁ]@g,smv GumgmlL  sresded LyFewr a;gggbﬁu BIaTNS  6Thg  HIer
QamewrLmin’ Lg?

A)  garau 26, 1930

B) gareuf 29, 1929

(C)  wysevr 16, 1930

D) =sev 18,1930

87. The Benaras Hindu University was founded due to the initiative of
(A) Nehru

.(B) Gandhi

M Madan Mohan Malawya

Gokhale
Lemyel @bHg Lesmas a;gg&b &@mﬁmgyﬁj@ SMTERTLONS @)(HHSEUIT -
@ oo
B)  snpd
(©) LDg,G?r Guomaes omeredlwim

(D) CorsCe
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88.

89.

90.

When was the new Enfield Rifle with greased cartridges introduced in the British'ndién
Army? ' ' ' '

- November 1856 (B) December 1856

MJanuary 1857 (D) February 1857

eremie® FuumsSude Glasrr@uq sLeuiul L Gl méser cgmé](?a)u_l Snsw @Urr@mg,ﬁm THS
2B LUBlgTs APlsLILESSIULLg?

(A)  mpeubuir 1856 B) gebuF 1.856

(C) gemaufl 1857 D) Qugeud 1857

Who shifted the treésury from Murshidabad to Calcutta?
(A)  Curzon : ' (B) Rippon
(C) - Bentinck M Warren H_éstings

sHAOSMS predisrursdambe) soassmednE wrhHlwieut wimi?
(A)  sigen B Aduer

(©) GQuewngm | (D) aumrenGaneiviq ke

Which is the national river of India?

(A) Brahmaputra : (B) Godavari

\/ Ganges ' : (D) Cauvery

@pSuwrelldn CoAL ey g2
A)  QGybwygyr , ‘ B) Gargreufl
C) srsT ) D) &rGeufl
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91. .In which year ISRO’s Polar satellite Launch Vehicle C36 (PSLV C36) successfully launches

92.

93.

RESOURCES AT-2A remote sensmg satelhte into polar sun synchronous orb1t‘7

A) 2015 W 2016

(C) 2017 : D) 2018 =

a5 e @pHu AarGaial euymiEs owwusddr gime Qeubms Cardr Qaielst @ arsan
C36 (PSLV-C36) Qgrene Gsdlay qu_ug)ma; Camemmenr RESOURCES AT-2Aeneun @flw @@ﬂuﬂ]aﬂ
&HMIL Lmenguled ﬁlgnaﬁ]mg? ‘

@) 2015 | B) 2016

© 2017 < (D) 2018

Which one of the following is not a source of Law?

\/ Caste _ (B) Custom

(C) Legislature (D) Religion
Gemeumeuameupdle o) &l'_.l-_g‘é,]m EPRTSTILD G)evenay?
A) g , : B) eupsammy

(O elLwamb | D) swvwb

How many countries participated in the 234 Winter Olympic games which was conducted by

South Korea? |

@A) 102 e Maz

© 9 | ™) 94

Ggs&r@a&mﬂwvmﬁl@ BenL_GubHm 236ug) @.Grﬂ'r'rsrra) écﬁ]dmﬁlé; CZurn'_lq_u_‘ﬂe{) TESMan HT(H&eT u@G&ﬁ)mm?
A 102 : : (B) | 92 |

(C) 95 _ D) 94
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94. Mohit Chauhan has been nominated as the Green Ambassador of this state recently @

(A) Manipur : \MSikkim

(C)  Uttar Pradesh ‘ - (D) Rajasthan
s8usHe Coradls seunen arhg B[ LS®L SIFTTE UNBSMISSILILLTT?.

A)  weefliyr - , B) Asdwd
(€)' 2557 95Csa0d (D) prgevgmen

95.  This Company filed patent applications i'ela'.ting e-Currency technology recently

M Barclays (B) IBM

(©)  Google ' (D) Facebook
s8ugdled Qps Flpeuad e-syandl Agmbla piLib Qgr_iurms sTayfle L Lwb Qupps.
A LmrdGeed - . B) m9eb

© wm@d D) -Guevys

96. Which is the largest river by discharge volume of water in the world?

(A)  Nile river | -Mmazon ri_ver

(C)  Yangtze river : (D) Mississippi river
2 Gl Sifls B T(hSg Gadad B 65 ?

A)  peo B ‘ B) oGuwsmern B

©) uminEEs D) ARG 5

97. Which country is known as the land of White elephants?
(A) Srilanka (B) Malaysia

\/ Thailand (D) . Indonesia

‘Qaudrener Wrene BT eTem emp&aHILIHID BT 6rg)?
A Qeonos B) wGewdwr

©) smueThg ' D) @QrCsrCGaradlwm
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98. ,W'hich river is praised in the first Century Tamil epic Silappadikaram? -

(A) Cauvery ‘ (B) Godavari

M Saraswati _ ' (D) Ganges

b Eroprar®h Sl @Qeosswnrer HoliudsTrssd erbs Eg}@uu Cumddl Lire L’ (Hereng.

A)  srGeufl ‘ (B) Cargreufl
(C) EUGT’DQJQ ' D) shos

99. Indiahasa : party system.
(A) Single party system |
Two party system

M Multi party system

(D)  Four party system

@QiSwr &8 pepmenw Gu;’p@;eﬁm@.‘
A)  aebpops o wop

B @w® 5~|'_-é] W

(®) L s& (penn.

D)  preng &8 ppop

100. Which is not an International Body?

v SAARC B) UNO
(© IMF (D) IHRC
.églc_;)&;Wl_@J[-DQ]G}T GTE 2008 SieMLOLIL] @lvanen?
(A) emis ' - (B) D5 BT(HSET HLPHD
(©) werem (@ Hl& Blmeuerid (D)  uwererm_H weflg 2 Meno HpaD
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